PreCalculus

WS: 5.3 Extra Practice

ANSWER KEY

General Solution

List of all solutions on interval [0, 27)

51 {57[ 1172'}
1. X=—+nrx —_—
6 6
2. x:£+2n7z,5—7[+2n7r {Zs—ﬂ}
3 3 3
T {7[ 77[}
3. X==+nrx ——
6 6
4, X=Z+2nﬂ,%+2nﬂ' z,l—
6 6 6 6
5. x:z+2nﬂ,7—”+2n7r 2,7—”
4 4 4
6. x:2—”+2n7z,4—”+2n7z 2—7[4—7[
3 3 3 3
7. x:£+2n7r,5—”+2n7z 2,5—7[
3 3 3
8. x:£+2n7r,5—”+2n7z 2,5—7[
3 3 3
9. x=2nxz,7+2nx {0,72'}
10. x=Z + 207, 2% s o 2 v one 2% v o ™ 2z Az on
3 3 3 3 3 3
11, x=Z v 207, F v onn 2Z v onn L F v o m 3 St 1w
4 4 4 4 4 4 4
T 27 7 27 4r 5S¢
12. X=—+n72',—+n72' AV A Y A A
3 3 3 3 3 3
13. x=Z v 202, % v one T v ona P s ong z om I 1z
6 6 6 6 6
14. x=" 4 2nz {1
2
15. x:3—7r+n7z {3—7[7—”}
4 4
16. x=" +2n7,°% 4 2nx ™
2 2 2
T 57 T 5r
17. X=2n7z, 7+ 207, —+2n7,~—+2nx 0,7,—,—
3 3 3 3
18, x=Z w202, v onz F v one 2 4 ong z 3w 7
2 6 2 2 6 6




19.

x:£+2n7r,5—”+2n7z
3 3

53

20, x=Z 1202, 2F v one X v one 2 Long @ 2z 4r St
3 3 3 3 3 3 3 3
21. Xx=m+4nx {r}
99 X_3_7z+n_ {3_7[ 7_7[ 117 157 197 23x 27rx 317[}
T 16 4 16’1616 16 ' 16 ' 16 ' 16 ' 16
23 T nr 27 nrx 7 47 Tn 107 137 167 2xn 5 8z 1lx 14r 17x
=== == 9'9° 9090 9 '9°'9'9'9' 9 ' 9 ' 9
9 3'9g 3 9 9 9 9 9 9 9 9 9 9 9 9
7 2nz 11z 2nrx 7 137 257 11z 23n 357
24. X=—++ , + A ! ! ’ '
18 3 18 3 18 18 18 18 18 18
T 3z 7 97 37 1llx
25. X:_+nﬂ-,_+nﬂ- P R T T
8 8 8 8 8 8
26. x =~ nz Sz nz 7 Iz B8z 197 Sz 11z iz 23z
T 12 2712 2 12'12°12 "12 '12712 " 12 " 12
T 3z 5z 1z 7 97 37 11z 5z 13n 7x 157
27. X=—+nNrx,—+nNzw,—+Nxw,—+Nrx e e
8 8 8 8 8 8 8 8 8 8 8 8
28. x=nz,Z +nx o,ﬂyﬁ,5_”
4 4 4
29. X=2n72',7l'+2n72',%+2nﬂ' {O,ﬂ',%
30, x=Z +2n72, 2" + 207, 2 v on {55—”3—”}
6 6 2 6 6 2

31, x=Z 420, v 2nm, 2 v ong 22 ong {15—”7—”&}

6 6 6 6 6'6 6 6
32. x=1.816+n7,1.249+nzx {1.816,4.957,1.249,4.391}
33. x=0.381+n7,2.034+n7x {0.381,3.522,2.034,5.176}
34. x=0.464+nx,1.893+nx {0.464,3.605,1.893,5.034}
35. x=1.231+2n7,5.052 + 2n7,2.301+ 2n7,3.983+ 2nx {1.231,5.052,2.301,3.983}
36. x=1.998+2n7,4.285+2nx {1.998,4.285}
37. x=1.110+2n7,2.032+2n7x {1.110,2.032}




38. x=0.870+n7,2.107+nzx {0.870,4.012,2.107,5.249}
39. x =0.848+2n7,2.294+ 2n7,0.340 + 2n7,2.802 + 2n 7 {0.848,2.294,0.340,2.802}
40. x=0.375+2n7,2.767 + 2nx {0.375,2.767}
41. x=0.534+n7,1.988+n7x {0.534,3.676,1.988,5.130}
42. x=1.998+2n7x,4.285+2n7 {1.998,4.285}
43. x=0.870+n7,2.107 +nzx {0.870,4.012,2.107,5.249}




